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 ---------------------------------------------------------------- 

    Date & Time         : 04-01-2011  14:28:29 

    Input File          : ...31_18_S21_3_10mm.ds_data\1\ds 

    Command Line Options: -silent-x593046 

 

    PROGRAM               VERSION: 201100000111 

    Alg-win-x64.DLL       VERSION: 201100000111 

    AlgConfig-win-x64.DLL VERSION: 201100000111 

    Agsdb_ar-win-x64.DLL  VERSION: 201100000111 

    AlgSolve.exe          VERSION: 201100000111 

 ---------------------------------------------------------------- 

 **** Starting main program 

 

 **** Model Unit System Settings: 

      -------------------------------------------- 

       Unit System              : Custom 

       Force                    : N 

       Length                   : mm 

       Time                     : s 

       Temperature (Absolute)   : deg C (K) 

       Thermal Energy           : J 

       Voltage                  : V 

       Current                  : A 

       Electrical Resistance    : ohm 

       Mass                     : N*s^2/mm 

      -------------------------------------------- 

 

 

 **** Memory dynamically allocated = 927314 KB (5% of physical memory) 

 

 **** Generating coordinates 

 **** Generating initial conditions 

 **** Generating boundary conditions 

 

 **** Warning: Detected  7787 dead elements. 

                    and    11 dead nodes. 

               Solid mesh the model using the "Tetrahedra and wedges  

               (boundary layer)" mesh type to avoid this situation. 

 

 **** FEA information 

      Model Dimension........................... =   3D model 

      The number of nodes....................... =   744998 

      The number of elements.................... =   1408869 

      The number of equations................... =   2567533 

 

 **** Segregated Scheme Data 



      Select segregated scheme ................. =   T 

      Solver for momentum equations ............ =   Automatic            

      Solver for pressure equations ............ =   Automatic            

      Velocity relaxation factor ............... =   7.000E-01 

      Pressure relaxation factor ............... =   5.000E-01 

      Inertial relaxation factor ............... =   1.000E+00 

      Apply automatic adaptive parameter control =   T 

      ID of Detect stagnation due to oscillation =   1 

 

      The number of equations (U)............... =   604502 

      The number of equations (V)............... =   609885 

      The number of equations (W)............... =   609885 

      The number of equations (P)............... =   743261 

 

 

 **** Turbulence Model Data 

      Select Turbulence model .................. =   Large eddy simulation(LES) 

                                                     Smagorinsky Subgrid-Scale 

 **** Proceeding with Equal-Order Segregated Method 

 **** ENTERING TIME LOOP 

 

 Step                                        NonL. Solv. == Euclid L-2 Norm == 

 Intv  Step     Time   Percent    DT      L  Iter  Iter   R_Norm_V    R_Norm_P 

    1     1  1.000E-01   0.00  1.000E-01  1           1   |R/F|v =   4.0E-10c 

    1     1  1.000E-01   0.00  1.000E-01  1           1   |R/F|w =   4.0E-10c 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|p =   1.8E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|p =   1.0E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|p =   3.3E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|p =   1.1E-03  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|p =   9.7E-06  

    1     1  1.000E-01   0.00  1.000E-01  1         272   |R/F|p =   8.9E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1     1    1.000E+00   1.000E+00  

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|u =   1.6E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|u =   1.6E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|u =   1.6E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|u =   1.7E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|u =   1.6E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|u =   1.7E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         350   |R/F|u =   1.6E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         400   |R/F|u =   5.1E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         450   |R/F|u =   5.4E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         500   |R/F|u =   5.3E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         550   |R/F|u =   5.5E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         600   |R/F|u =   7.1E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         650   |R/F|u =   9.5E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         700   |R/F|u =   6.8E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         750   |R/F|u =   6.8E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         800   |R/F|u =   6.4E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         850   |R/F|u =   6.6E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         900   |R/F|u =   6.6E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         950   |R/F|u =   6.6E+05  

    1     1  1.000E-01   0.00  1.000E-01  1        1000   |R/F|u =   6.6E+05  



    1     1  1.000E-01   0.00  1.000E-01  1        1001   |R/F|u =   6.6E+05m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  2.000E-01 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|u =   1.7E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|u =   4.8E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|u =   5.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|u =   5.3E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|u =   5.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|u =   3.7E+09  

    1     1  1.000E-01   0.00  1.000E-01  1         323   |R/F|u =   2.0E+10m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  4.000E-02 

    1     1  1.000E-01   0.00  1.000E-01  1          18   |R/F|u =   4.3E+10m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  8.000E-03 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|u =   4.0E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|u =   5.1E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|u =   5.6E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|u =   3.5E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|u =   3.5E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|u =   8.2E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         350   |R/F|u =   7.9E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         400   |R/F|u =   1.5E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         450   |R/F|u =   1.2E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         500   |R/F|u =   9.2E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         550   |R/F|u =   8.1E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         600   |R/F|u =   5.4E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         650   |R/F|u =   5.2E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         700   |R/F|u =   2.9E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         750   |R/F|u =   1.4E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         800   |R/F|u =   8.9E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         850   |R/F|u =   2.6E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         900   |R/F|u =   2.5E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         950   |R/F|u =   2.3E+07  

    1     1  1.000E-01   0.00  1.000E-01  1        1000   |R/F|u =   5.5E+07  

    1     1  1.000E-01   0.00  1.000E-01  1        1001   |R/F|u =   5.5E+07m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  1.600E-03 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|u =   2.6E+06  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|u =   1.4E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|u =   1.1E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|u =   1.0E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|u =   4.4E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|u =   5.7E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         350   |R/F|u =   1.6E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         400   |R/F|u =   1.7E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         450   |R/F|u =   5.7E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         500   |R/F|u =   1.9E+05  



    1     1  1.000E-01   0.00  1.000E-01  1         550   |R/F|u =   1.9E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         600   |R/F|u =   2.2E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         650   |R/F|u =   8.2E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         700   |R/F|u =   8.5E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         750   |R/F|u =   5.0E+05  

    1     1  1.000E-01   0.00  1.000E-01  1         800   |R/F|u =   2.5E+04  

    1     1  1.000E-01   0.00  1.000E-01  1         850   |R/F|u =   2.5E+04  

    1     1  1.000E-01   0.00  1.000E-01  1         900   |R/F|u =   2.5E+04  

    1     1  1.000E-01   0.00  1.000E-01  1         950   |R/F|u =   2.4E+04  

    1     1  1.000E-01   0.00  1.000E-01  1        1000   |R/F|u =   2.5E+04  

    1     1  1.000E-01   0.00  1.000E-01  1        1001   |R/F|u =   2.5E+04m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  3.200E-04 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|u =   9.2E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|u =   9.6E+07  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|u =   1.1E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|u =   1.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|u =   1.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|u =   1.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         350   |R/F|u =   1.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         400   |R/F|u =   1.2E+08  

    1     1  1.000E-01   0.00  1.000E-01  1         424   |R/F|u =   9.5E+12m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  6.400E-05 

    1     1  1.000E-01   0.00  1.000E-01  1           7   |R/F|u =   1.2E+10m 

 **** Warning: Vel_solver reached maximal iteration 

               Re-do by decreasing inertial relaxation factor, 

               K_iner=  1.280E-05 

    1     1  1.000E-01   0.00  1.000E-01  1           5   |R/F|u =   1.3E-08c 

    1     1  1.000E-01   0.00  1.000E-01  1           5   |R/F|v =   4.1E-08c 

    1     1  1.000E-01   0.00  1.000E-01  1           4   |R/F|w =   6.2E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|p =   8.0E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|p =   3.9E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|p =   1.6E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|p =   3.2E-03  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|p =   1.7E-04  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|p =   5.1E-06  

    1     1  1.000E-01   0.00  1.000E-01  1         328   |R/F|p =   9.0E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1     2    5.674E-01   4.389E-01  

    1     1  1.000E-01   0.00  1.000E-01  1           7   |R/F|u =   3.0E-08c 

    1     1  1.000E-01   0.00  1.000E-01  1           4   |R/F|v =   5.8E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1           4   |R/F|w =   2.4E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|p =   1.1E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|p =   4.8E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|p =   1.7E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|p =   3.2E-03  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|p =   2.0E-04  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|p =   9.3E-06  

    1     1  1.000E-01   0.00  1.000E-01  1         334   |R/F|p =   8.8E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1     3    4.432E-01   2.558E-01  



    1     1  1.000E-01   0.00  1.000E-01  1           7   |R/F|u =   2.0E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1           5   |R/F|v =   2.2E-07c 

    1     1  1.000E-01   0.00  1.000E-01  1           5   |R/F|w =   2.6E-08c 

 **** Non-positive diagonal entry detected in ILU method 

      switch to SSOR Preconditioner 

    1     1  1.000E-01   0.00  1.000E-01  1          50   |R/F|p =   9.6E-02  

    1     1  1.000E-01   0.00  1.000E-01  1         100   |R/F|p =   3.1E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         150   |R/F|p =   4.7E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         200   |R/F|p =   8.6E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         250   |R/F|p =   6.4E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         300   |R/F|p =   1.3E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         350   |R/F|p =   5.5E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         400   |R/F|p =   3.1E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         450   |R/F|p =   4.1E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         500   |R/F|p =   2.3E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         550   |R/F|p =   1.5E+01  

    1     1  1.000E-01   0.00  1.000E-01  1         600   |R/F|p =   5.0E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         650   |R/F|p =   3.1E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         700   |R/F|p =   4.4E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         750   |R/F|p =   1.1E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         800   |R/F|p =   1.4E+01  

    1     1  1.000E-01   0.00  1.000E-01  1         850   |R/F|p =   8.9E-01  

    1     1  1.000E-01   0.00  1.000E-01  1         900   |R/F|p =   1.3E+00  

    1     1  1.000E-01   0.00  1.000E-01  1         950   |R/F|p =   1.5E+00  

    1     1  1.000E-01   0.00  1.000E-01  1        1000   |R/F|p =   2.7E+00  

    1     1  1.000E-01   0.00  1.000E-01  1        1001   |R/F|p =   2.7E+00m 


